(6,0) to sqrt(2x-4)

Given Function: y =\/2-x—4 Given Point (6,0)

Objective Function: (not expanded) D(x) =j (x—6)2+(\f2-x—4 —0)2

There are no roots of Objective Function

Objective Function: (expanded) D(x) =J x2 —10°x+32

x5

Derivative of Objective Function D'(x) =

jx2 ~10- x+32
Roots of Derivative Function x = 5
Closest Point on the Given function to the fixed point at (6,0)

isatx=5andy = (2:5-4 =6 =2.45 or (2, [6)

The minimum distance from the fixed point (6,0) to the given function is

D(5) =7 =2.65

Mimimize Distance to a fixed point 1-31-20.tns 10f6



6.15

(5

o (5.,2.44949) £1(x)=/2-x—4

1+
+ + + :X
-2.67 17.33
-3.46 |
The graph on the graph above is the given function
€ | 2 |any x =24 y =J2 (x—2)
Mimimize Distance to a fixed point 1-31-20.tns 20f6



(2.4,3.71)
! (5.,2.64575)
1 L
-9.89 |1 10.11
4.86 |
] )= — | The graph above is the distance function the measures distance
from fixed point (6,0) to the given function y =/2- (x—2j
< | 2 |anyx =24 The graph of the above is the distance function

D(x) = Jx2—10-x+32

Mimimize Distance to a fixed point 1-31-20.tns 30of6



2.02 ¢

0.2]

10

2.02 |

O v

1 o) 1

< 2

any_x =2.4

The graph of the above is the derivative of
the distance function

x5

fx2—10-x+32

D' (x) =

Mimimize Distance to a fixed point 1-31-20.tns
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8.54 Ty

Mimimize Distance to a fixed point 1-31-20.tns

[ (2.4)
(5,06 ) (5-2744949) +(2.4,3:71)
! (5.,2.64575)
11(2.4,0:89) \2.65 4 11
...f.\3‘?“7:1_-@. X — —X
-2.67| 1 (2,0)  (6,0) 17.33}9.89 [ 1 10.11
4.811 4.86 |
The graph on the left is the given function
< 2 |lany x =2.4 y =ﬂ(X)
S The graph of the right is the distance
function D(x) = fz(x)
50f 6



8.487 Dlx)

2.4
e
2.4.3:71s
N (5.,2.64575)
0 0 : 0 0 0 0 0 0 0 : 0 0 x -
9.89 [ 1 0.1
4.861 1.691

< > any_x =2.4

The graph on the left is the distance

function y =jx2—10-x+32

The graph of the right is the derivative of the
distance function

D' (x) = X—5

Jx2—10*x+32

Mimimize Distance to a fixed point 1-31-20.tns
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